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sical address and logical address? (3)

pose the following character encoding is used
in a data link protocol : (2)

AT 010111; B: 11101101; FLAG: 01111110; ESC:
L

aming ‘methods is used.

"' ‘g&gccuf the following special
] N

(2)

ce between packet switching
with the help of suitable
(3)

28 resolved from a given
' (3)

100 KHz bandwidth
er. What is the
‘there is a need
width channels
(2)
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.'." lewls and 16 phase Iaveis and the bit
N) isf 72 Kbps Calculate the following:

§ in circuit-switched network
connection establishment and:

release. Q-

circuit-switched & tworks do
iﬂfﬂfmﬂtlﬂn about the network
)

(2)

y well-known ports?
ssigned to HTTP and
(2)

rranged in a mesh
| e needed for each
nks are needed in
(2)
P.T.0,
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4

(n) Which of the four digital 1o analog mog
. 1 ques (ASK. FSK, PSKJ 18 most Suse
to noise? Justify your answer,

uIHtI{]n
eptibe
(2)

following to a suitable layer of the Ogy

‘modadel ;
Sl s

(i) Route determination

(ii) Interface to transmission mediz

rovides access to the end user (3)

a ﬁé*ﬁmg scheme with two legal
010 and 10101.

EEIDEJHE distance.
Q

lany bit errors can be detected by

TOrs can be corrected by
(3)

ming code whose binary

%

it IS in error.
(3)
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5

llln Md discuss the vatious

helds of Ip
et with (he

help of 4 diagram (4)

Xt Transfer Protoco) (HTTP) is a
Protocol, Justify. (2)

| j'-_.'-;" the fnlluwing (CIDR) entries in its
.I.l:.l....L.Il ¥ :IMI' : {2}
Next hop

Interface 0

Interface |

ed by the router?
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i

X Compare and contrast Transmjssmn Co
protocol (TCP) and User Datagrap, Pro

[rfl ﬁ.r.. wﬂh respect to the fDIIDwing param

irg|
tﬂ{;{”

ttf]‘ﬂ:

l Connection

P

(b) Sequence of Data packets at the receiver

(c) L;l Iedggmﬂnt of the received packetf
(3

Nyquist Sampling rate for a signal
h of 200 KHz\if ‘the lowes
| KHz. (2)

2el '.'-éﬁﬁg-.-énd dynamic routing
nitable example. (3)
1101101101 is transmitted using
- generator polynomial is
(3+2)

ransmitted bit string which
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) SUppose a 9000.y,

B IP packet is forwarded
S84 link wigy 4

. 1500-byte Maximum
| 1ssion Uni (MTU), How many fragments

I."'--_-;ﬁru;u_ted-? What are their lengths? (2)

oW can a machine with o single DNS name
AYE multiple IP addresses? (2)

 the IP address 184.86.92.182.

:_r

® class of the given IP address, if
ing class-based addressing.

Ny
in part {%s to be divided
mets, what would be the

vork address of the subnet

285 would be attached?

find the length of
etwork in part (c).
' (14242+1)

W control in the

- P 0.
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~discuss the concept of multiplexing
tiate between Time Division and

(3)

(4)

om source 1o

(2)

I ;J:Ilfa DNS packet

v. Does this
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